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1
Introduction
It is clear that UE will be tested in multiple UE positions and multiple rotating steps both FR1 and FR2 static tests. And the metrics for FR1 and FR2 static tests are throughputs. Therefore, multiple curves will be produced, how to handle of these curves to get one result need to be specified in the TR38.827.
The way of averaging throughput curves in LTE MIMO OTA [1] can be reused here in NR MIMO OTA. Currently, the testing environmental conditions, i.e. noise limited condition or SIR limited condition are not decided, thus we keep both averaging power levels and SIR values here for further down selection.
2
References

[1] TR37.977, “E-UTRA verification of radiated multi-antenna reception performance of UE”
3
Text Proposal

The following text changes are proposed.
========================== Start of change 1==========================
5.2
Averaging of throughput curves
There are different possibilities how to average the curves where throughput (TP) was recorded as function of downlink (DL) power (expressed in RS EPRE) or of Signal-to-Interference (SIR) level. Averages shall be calculated by the following formula.

5.2.1
Average of power levels

The averaging of DL power (or SIR) is the first possibility. The power levels are summed similar to the formula used for TIS evaluation, i.e. using the inverse of power. The formula to use is:
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For every selected TP value y a corresponding power level Pn(y) can be found, and summed over all N conditions. 
The subscript "inv" is used to indicate that the inverse sum of power values is taken.

The power levels have to be converted to linear values in mW before the summation takes place, and the average then can be reconverted to dBm / scs for RS EPRE or dB for SIR.

Since the recording of the TP curves is done with fixed steps in power, only few TP values are available. 
In order to calculate the correct average, the TP curves have to be interpolated, and a fixed set of y values for TP can be used for generating the curve of Pavg(y).

In the case that a curve was not recorded down to 0 % TP, it shall be extrapolated from the point taken with lowest TP to TP = 0 using the same power level.

If a curve did not reach nominal TP, it shall be extrapolated it in a way that it would reach nominal TP at the lowest power level where it was reaching its individual maximum TP value.

The average TP curve shall only be calculated up to a TP value which equals to the average of all individual maximum TP values.
6
Measurement methodologies

6.1
Environmental conditions
========================== End of change 1 ==========================
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